MIT R A HiE

i) # B |BAAESE HaRi5 SHEEH— K FE AR1 AR2 4th
4A38(A) | 1000 |#WABFBCEYF1 |ACIRILTI—IR| vs FCA—=BDRA | scazzvrrizna| 74-1-05vte| 21-4-n3vt | AcAzzuRRizng
4838(A) | 1200 |#AEFBCEYF1 RHIAE2nd vs FCHXEF2nd |acthins—i| FCA—DR|FCA—HRA| AcTnz(—

185 | 4A38(H) | 1400 [#ABFBCEYF1 |AC.AZZURRI2nd| vs TA—=Y—D5Y | AHI52nd| Fea#E2nd| Foh & 2nd| KHiLA2nd
4B28(1) | 1330 |E5EAIVTL DUo/{—H vs t5iESC J)%)L k=L | Resilience| Resilience| /9L k=L
4B28(+) | 1530 |£5EARYTL | JISIVb—=L vs Resilience  |DUO/S—7| £ #iESC| £7iESC|DUOIS—2
4B10B(B)| 1000 |ABFBCEYF2 | FCHPEF2nd vs  |ACIRILTA—R| £5ESC|Afils2nd| Afils2nd| £iESC
4F10B(B)| 1200 |#EBFBCEYF2 FCA—H2A vs | DA=U=BS5Y1tr |FoasdEand| acThiz—k| AT~k | FoadE2nd

26 |4H10B(B)| 1400 |#AEFBCEYF2 +4HiESC vs RIIE2nd  |FCH—HR| 73-v-599t| 74-1-539t| FCA—HR
4H10H(B)| 1000 |BEHI9MRE—ILI4—ILE Resilience vs  |AG.AZZURRI2nd|2/%)L ~—L|DUO/S—5|DUO/S—5| J/SL =L
4B108(R)| 1200 |&#7wbt-no—nke| )N R—=L vs DUOJS—%5  |Resilience|acazzurriznd| acazzunsiznd Resilience
4A16B(D)| 1330 |£7EARYTL |ACTIRIVTA—R| vs | TA—Y—DFYL [reav#end £7iESC| £7IRSC FeapEand
4A16E(L)| 1530 |£5ERSVYTL | FCHYFE2nd vs +HiESC ACTRILFA—TR | 74=Y=D5vt| 74—1=D5vt | ACTRILF(—1K

38 |4B16E(L)| 1000 |REKE Resilience vs FCA—DA | acazzurazed DUOJS—5|DUO)§—" | Acazzurrizn
4R16E(1)| 1200 |RIE A/ eV vs RHNH2nd  |Resilience| FCA—HA|FCA—H A Resilience
4R16E(L)| 1400 |REAE AC.AZZURRI2nd| vs DUOJS—5 | 2/Shh—L| A%inB2nd| A%a2nd| 250 R—L
4A23A(1)| 930 |MWEBFBCEYF2 +HiESC vs | ACIILTA—iR |2/ b—L|FeapE2nd FoadE2nd 1)L k—L
48238(L)| 11:10 |¥eEFBCEYF2 | JA——HIvE vs Resilience | £7ESC | aczitnzi| aczinzi| £ 4;ESC

4% |[4f23B(1)| 1250 |#&FBCEyF2 | )NLE—=L vs FCHXE2nd |71-U-757¢ | Resilience| Resilience| 71--53vt
48238(L)| 1430 |¥EFBCEYF2 FCA—DA vs DUOJS—H | R#IB2nd] acazzurriznd| acazzummiznd| KH)L52nd
4f23B(1)| 1610 |#8BFBCEYF2 | AHIAE2nd vs  |AC.AZZURRI2nd|FCA—52|DU0/{—4| DUO/S—| FCA—DA
4F20R®)| 1330 |£7ERRYTL ACIRITA—iR| vs Resilience | t5iESC|2/NLk—L| 2L E—L| £4iESC
4A298($)| 1530 |£7EAIITL +4iESC vs )8V =L | rczmns—| Resilience| Resilience| AcTns—

58 |4H20B(£)| 1000 |KABFBCEYF1 DUO/S-5 vs | IA=YU=D39t | "Hs2nd FCA—DA| FCA—DA| ATl 52nd
4F20B(#)| 1200 |¥ABFBCEYF1 |AC.AZZURRI2nd| vs | FCHIE2nd |DUO/S—7| 74--53vt| 22-s-13ve| DUOIS—2
4A208(£)| 1400 |#BFBCEYF1 | AFII2nd vs FCA—DA  |roazzummizna| Fest#2nd| Feas#2nd| acazzussizng
SE1R(R) | 1000 |B#wwr-nz—-ie|  JJSIL—L vs | ACIRJLT1—iR DUOJS—7|Resilience|Resilience| DUOJS—2
SE1E(E) | 1200 |[E#wwtk-n2-1k| DUOJS—H vs Resilience | 3/%L k=L | Aotz —| actins<—| 25 k=L

6% |5B1B(E)| 1000 |#AEFBCEYF1 +t45i#ESC vs | AGC.AZZURRI2nd |Fca#2nd| FCA—HA| FCA—HA| FeabEznd
5A1BE(B) | 1200 [#EBFBCEYF1 | TA—U—=DIvE| s ATIB2nd | £7IESC | roazzummizn| acazzurmiznd| £ 73ESC
5A1E(H) | 1400 |#A&FBCEYF1 | FCHF2nd vs FCA—HA J4=U=13vt | KHILA2nd | XHILB2nd| 74-1-159t
7R16B(1)| 1530 |#BFBCEYF1 ACIHRITA—R| s DUO/S—5 | x#ins2nd|Resilience| Resilience| X#il52nd
7A16B(X)| 17:10 |#¥ABFBCEYF1 |AC.AZZURRI2nd vs J)8Lb—=L | scmus—x|DUOIS—5|DUOIS—5 | AcTiinz(—k

7€ |7B16B(1)| 1850 |#AEFBCEYF1 RHIVE2nd vs Resilience  |Acazzurrizng 2))L h—L| TSI h—L | Acazzurriznd
7A16H(L) THIERIT L FCA—=DA vs +45ESC J4—U=59t | FCHE2nd| FCHPE2nd| 74—U=H59t
78168(t) trE28YTL | 7A=)=D5vt| vs | FCHPE2nd |FcA—H2| triESC| £rikSC|FCA—H2
7R18A(A)| 1530 #MBFBCEYF1 |ACAZZURRI2Znd| vs |ACIRILTA—IR |FCA—R| /UL b—L| J)ULb—L|FCA—HA
7B18H(B)| 17:10 |#AEFBCEYF1 DUO/S—5 vs RITIVA2nd | reazzurrizna| ACTHIF4— | ACTHIF4—K | ACAZZURRIZN

8#i |7A18E(A)| 1430 |#MEFBCEYF2 FCA—DA vs JJ)VLb=L  |buoii—%| A#ia2nd| AHiLs2nd| DUOIS—H
7A188(B)| 1610 |#ABFBCEYF2 Resilience vs FCH¥E2nd | £#IESC|71-v-v3vt| 21-U-r3vt| £5ESC
7R18A(A)| 1800 |¥AEFBCEYF2 +t4H5ESC vs 74 —1—D5Y1 |Resilience| Fca#F2nd| Feh ¥ 2nd| Resilience
7H30B(1)| 1800 |#&FBCEYF1 |ACIRITI—IR| s AHIA32nd FES FES FES FES
7H318(R)| 1530 |¥EFBCEYF1 |AC.AZZURRI2nd vs FCA—DA  |DUOJS—5|Fcat#and| Foato#2nd DUO)S—H

offi |7AS1B(E)| 17:10 |¥ABFBCEYF1 buo/i—5 vs FCHIE2Nd |ronzzurrizna FCA—HR|FCF—H 2 | ronzzumrizng
78318(R)| 1530 |#MEFBCEYF1 myAY A = V) vs TA—1)—D59E | Resilience| £4ESC | £4#ESC | Resilience
7H318(A)| 17:10 |¥AEFBCEYF1 Resilience vs +4ESC NIV k=L | 74=u=13vt | 71-U=139t | TSI k=L




MJT1EREAE BT Lfi-T46L

8A208(1)| 10:00 |HEFBCEYF1 541 vs 141 24 44 44 24
_ |sA20E(D)| 1200 |HABFBCEYF1 241 vs ¥ v 5 14 14 5fi
o 8A20H(1)| 1400 |¥EBFBCEYF1 104 vs 6fir 74 of ofs 7454
8A208(1)| 1600 |[HABFBCEYF1 761 vs ofsr 1044 611 61 1041
9B4B(R) | 1000 |BOHE 441 vs 141 34 2fi 244 3fi
. | 9R4BEE)| 1140 RO 3 vs 24 akr | M | M | A
" 94B(R) | 1320 |BOiE 9fiL vs 643 8fi 74 74 8fi
9B4B(R) | 1500 |BOHE 841 vs 741 ofir 6fi 61 ofir
9A11E(E)| 930 |[fABFBCEYF2 241 vs 541 3fi 4 afi 3fi
_|9AMBE)| 11:10 | AEFBCEYF2 34 vs 441 24 54 54 24
28 9A11E(A)| 1250 |#EFBCEYF2 741 vs 104k 81 ofir ofir 8fir
9A11A(R)| 14:30 |#AEFBCEYF2 84 vs Ofir 74 10 | 10fk 74
9A17E(L)| 1000 |BOE 141 vs 341 afi 5{i 54 afi
_[9ATARM@)| 1140 |BOME 44 vs 541 142 3fi 3fi 141
o 9A17E(L)| 1320 |BOE 641 vs 84 ofi | 1ofz | 1ofz | of
9A17B(1)| 1500 |BOME 9fis vs 104 61 81 81 61
9F19R(A)| 1000 |BO#E 141 vs 241 5fi 3 3 515
i 9F19R(A)| 1140 |BO#E 5§ vs 3fi 14 21 24 14
9A19E(A)| 1320 |BOiE 641 vs 741 106 | 8fi 8fi | 10fz
9A19B(H)| 1500 |BOfE 104 vs 8fi 61 7z 74 i




